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ﬁ é g Multipliser desimaler med 10 100 000 000

StudentName: __ ExamDate: __ ExamScore: ____
3,825 x 100 = 7,785 x 100 =
1,79 x 10 = 2,41 x 1000 =
5,404 x 1000 = 1,672 x 10 =
8,734 x 10 = 1,917 x 100 =
5,277 x 100 = 7,31 x 100 =
4,773 x 100 = 8,866 x 10 =
10,018 x 1000 = 1,939 x 100 =
5,432 x 1000 = 1,229 x 1000 =
2,465 x 100 = 3,274 x 100 =
4,788 x 10 = 6,937 x 10 =
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ﬁ @ ! Multipliser desimaler med 10 100 000 000

StudentName: ExamDate: __ ExamScore: ____
3,825 x 100 = 382.5 7,785 x 100 = 778.5
1,79 x10=179 2,41 x 1000 = 2410
5,404 x 1000 = 5404 1,672 x 10 =16.72
8,734 x 10 = 87.34 1,917 x 100 = 191.7
5,277 x 100 = 527.7 7,31 x 100 = 731
4,773 x 100 =477.3 8,866 x 10 = 88.66
10,018 x 1000 = 10018 1,939 x 100 = 193.9
5,432 x 1000 = 5432 1,229 x 1000 = 1229
2,465 x 100 = 246.5 3,274 x 100 = 3274
4,788 x 10 = 47.88 6,937 x 10 = 69.37
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